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A 68 year-old farmer complains of
gradual painless diminution of vision In
his left eye over the past 9 months. His
best corrected vision Is 6/18 right eye
and HM left eye. His examination Is
significant for a moderate nuclear
sclerosis In his right eye and dense
cataract in his left eye.
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The rest of his examination, including
corneal examination, pupillary reaction
and a B-scan of his left eye, Is within
normal limits.

Now he presents with severe pain In his
left eye. The eye Is injected. The cornea
Is edematous with shallow AC. IOP
pressure Is 14 mmHg in the right eye
and 37 mmHg In the left eye.
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Clinical features
* Age

* Visual acuity
e Ocular examination

* Investigation

 Ocular pain
e Tension

 Corneal edema

e Shallow AC
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THANK YOU



